Integer division up to 100 #1

21) 784 + 98

1296 + 18 =
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22) 6208 -+ 64

495 = 33

23) 4032 = 84

3480 = 58

24) 189 = 63

324 = 27

25) 7566 + 78

2750 + 50

26) 1972 + 58

8811 +99

988 + 76

2097 + 93 =
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123 =41

5796 + 84

30) 5060 <+ 55
31) 2813 + 29
32) 2059 + 71
33) 2436 + 87
34) 76 = 38
35) 996 + 83
36) 3441 + 93
37) 3956 + 43
38) 3520 = 55
30) 1404 + 39
40) 3250 = 65

2376 + 88
8
3591 =+ 57
1305 + 45
5684 + 98
3834 + 54
1920 + 24
1520 + 16
53888 =+ 92
2064 = 86
4788 =76
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Integer division up to 100 #1 (Solutions)

1296 + 18 = 72
495+ 33 =15
3480 + 58 = 60
324 +27 =12
2750 + 50 = 55
8811 +99 = 89
2697 +93 =29
123 +41 =3
5796 + 84 = 69
2376 + 88 = 27
268 +4 = 67
3591 + 57 = 63
1305 + 45 =29
5684 + 98 = 58
3834 +54="T1
1920 + 24 = 80
1520 + 16 = 95
5388 + 92 = 64
2064 =+ 86 = 24
4788 + 76 = 63
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784 +98 =8
6208 + 64 = 97
4032 = 84 = 48
189 +63 =3
7566 = 78 = 97
1972 + 58 = 34
988 =76 =13
9+-3=3

96 -2 =48
5060 + 55 = 92
2813 =29 =97
2009 +71 =29
2436 + 87 = 28
76 +38 =2
996 = 83 =12
3441 + 93 = 37
3956 =43 = 92
3520 + 55 =64
1404 = 39 = 36
3250 + 65 = 50



